


Instrucciones: resolver las desigualdades que se muestran a
continuacion y selecciona la opcién correcta.

1) (x+1)2-5>x(x—-2)

a) |—oo,1] b) [1,00]

(x+3)(x—3)+2x+5 = x?

a) ]-,2] b) [2,00]
x(x+6)+B3—-x)x<16—x
2] ) ol

2x+3 <4x-3(x-—2)

a) |—oo, 3] b) [3,00

x2—-2(4x—-7) = (x — 2)?

0] 0 [

2

4—-5x—302x—-=7)>—-(x+5)

a) |—oo, =3[ b) ]3,]







3(x+2) - 5x < 4(—2x-—3)

a) ]—00,—5] b) [_5100[

x2x—3)>2x—-1)(x+5) -7

a) |-oo, 1] b) 11,00]

(4x-3)(x+6)<(2x—-1)2+6

a) ]—00,—1] b) [1,00]

4(3x +2) < 4x — 2(6x + 1)

0 -] S

x+3)2<(x+3)(x+4)

a) |-, —3] b) [-3, [

3(2x—-1)-2(x—3) 2 3(3x—4)

a) ]—o0, 3] b) [3,00[

2x+34+2(x+1)<-3(1—x)

a) ]—o0, -8 b) ]-8, ]

2x+1)—-3(x—-2)<x+6

a) |—oo, 1] b) ]1,00[







10x—4(x+1) =28+ 3x

a) ]_ml 4] b) [4100[

—3(2x+3)<2(—x+5)-3

a) |-, —4] b) [4,00[

2x+3(1-2x)<x+8

a) ]—oo, —1[ b) ]1,00[

34—x)—x*>2—-(x—-2)(x+2)

a) |—o0,2[ b) ]2,00[

2x+2x(6x+5)>Bx+2)4x+1)+1

a) |—o,3[ b) 13, 00[

6(x2+2)—(2x—4)3x+2)<3(5x+2)

a) ]—,2[ b) |-, -2




